Topic A03: Bank Reconciliation Statement & Correction of Errors           Student Worksheet Answer P.10

BAFS Elective Part – Accounting Strand – Financial Accounting
Topic A03: Bank Reconciliation Statement and Correction of Errors
Activity 1:  Matching
(I) Complete the table below for discrepancies in the cash book and on the bank statement, stating their originality.

	Originality
	Items of Discrepancies

	Bank Statement
	1. Autopay - payments
2. Bank charges

3. Credit transfer

4. Direct debit

5. Dishonoured cheques
6. Errors in bank statement 

7. Standing order – Payments

	Cash Book
	1. Deposits in transit/Uncredited cheques

2. Errors in cash book

3. Unpresented cheques
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	Errors in the bank statement should be rectified by the bank itself.




(II) Based on your findings above, classify the items according to the effect on balances.

	Category
	Items of Discrepancies

	Resulting balance in cash book is greater than that on bank statement
	1. Autopay - Payments
2. Bank charges

3. Deposits in transit/Uncredited items

4. Direct Debit

5. Dishonoured cheques
6. Errors in bank statement (e.g. Bank draws money from the account by mistake.)

7. Errors in cash book (e.g. Receipts side overstated)

8. Standing order – Payments

	Resulting balance on bank statement is greater than that in cash book 
	1. Credit transfer

2. Errors in bank statement (e.g. Bank deposited money in the account by mistake.)

3. Errors in cash book (e.g. Payment side overstated)

4. Unpresented cheques


Activity 2: Problem Solving

Step 1: Match the items in the cash at bank account with that on the bank statement
Dragon Company

Cash at Bank 

	Year 19
	
	$
	Year 19
	
	$

	
	
	
	
	
	

	Jan 1
	Balance b/d
	15,830
	Jan 3
	Somy Corp (#285701)
	30,500 

	Jan 4
	Blueberry Ltd
	21,780
	Jan 4
	Office Furniture: OK (#285702)
	17,250 

	Jan 12
	Plum Ltd
	24,750
	Jan 7
	Electricity: H K Electric (#285704)
	285 

	Jan 12
	Cherry Co
	18,000
	Jan 10
	Kowloon (#287505)
	16,000 

	Jan 28
	Lemon Ltd
	8,000
	Jan 23
	Somy Corp (#285706)
	36,500 

	Jan 31
	Cherry Co
	35,640
	Jan 30
	Salary: Mary Kwan (#285707)
	10,000

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


Dragon Company

Bank Statement 
	Date
	Details
	Withdrawal
	Deposit
	Balance

	Year 19
	　
	$
	$
	$

	Jan 1
	Balance
	
	　
	15,830 

	Jan 4
	Deposit
	
	21,780 
	37,610 

	Jan 4
	Cheque # 285701
	30,500 
	　
	7,110 

	Jan 7
	Cheque # 285702
	17,250 
	　
	(10,140)

	Jan 10
	Cheque # 285704
	285 
	　
	(10,425)

	Jan 12
	Deposit
	
	42,750
	32,325 

	Jan 13
	Cheque # 285705
	16,000 
	
	16,325 

	Jan 23
	Cheque # 285706
	36,500 
	　
	(20,175)

	Jan 28
	Deposit
	
	8,000 
	(12,175)

	Jan 29
	Bank interest
	140 
	　
	(12,315)

	Jan 30
	Returned cheque
	8,000 
	　
	(20,315)

	Jan 31
	Telegraphic Transfer
	
	13,000 
	(7,315)

	
	
	
	
	


Step 2: Update the Cash at Bank account for the following discrepancy items
· E.g. bank interest, dishonoured cheques, telegraphic transfers

Dragon Company

Cash at Bank 

	Year 19
	
	$
	Year 19
	
	$

	Jan 1
	Balance b/d
	15,830
	Jan 3
	Somy Corp (#285701)
	30,500

	Jan 4
	Blueberry Ltd
	21,780
	Jan 4
	Office Furniture: OK (#285702)
	17,250

	Jan 12
	Plum Ltd
	24,750
	Jan 7
	Electricity: H K Electric (#285704)
	285

	Jan 12
	Cherry Co
	18,000
	Jan 10
	Kowloon (#287505)
	16,000

	Jan 28
	Lemon Ltd
	8,000
	Jan 23
	Somy Corp (#285706)
	36,500

	Jan 31
	Cherry Co
	35,640
	Jan 30
	Salary: Mary Kwan (#285707)
	10,000

	Jan 31
	Green Trees
	13,000
	Jan 31
	Bank interest
	140

	
	
	
	Jan 31
	Lemon Ltd: Returned cheque
	8,000

	
	
	
	Jan 31
	Balance c/d
	18,325

	
	
	137,000
	
	
	137,000

	
	
	
	
	
	


Step 3: Analyse the following unpaired items and find their effects on the bank statement.
(a) Money deposited after the cheque clearing cut-off time 

	Deposits in transit/Uncredited cheque




The receipt has been recorded in the cash book but not on the bank statement. This would result in a smaller/greater* balance on bank statement compared to the Cash Book (Cash at Bank account). 

 (b) Cheque issued but not presented for payment by payee is called

	Unpresented cheque


The payment has been recorded in the cash book but not on the bank statement. This would then result to a smaller/greater balance on bank statement compared to the Cash Book (Cash at Bank account).

Step 4: Formalise the explanation in a proper statement.
Dragon Company

Bank Reconciliation Statement as at 31 January Year 19

	
	$
	

	Balance as per adjusted cash at bank account
	18,325
	

	Add: Unpresented cheque (cheque no. 285707)
	10,000
	

	
	28,325
	

	Less: Deposit in transit
	35,640
	

	Balance as per bank statement 
	(7,315)
	OD

	
	
	


Conclusion:  There is/is not a misappropriation of funds by the former employee because the updated cash at bank account balance can match the bank statement balance.

Activity 3: Identify the errors
Activity 3A

(A)  
Error of principle

(B) 
Error of complete reversal of entries

(C)
Error of commission

(D)
Error of original entry

(E)
Error of omission

(F) 
Compensating error
Activity 3B

Reasons:

1. There were no single debit and credit entries made to the accounts in the above error.

2. The same wrong amount has been used for both the debit and credit entry.

Activity 4: Help your boss
	Date


	Particulars
	Dr

$
	Cr

$

	(A)

Year 18/12/31


	Drawings

     Purchases

Being drawings incorrectly recorded as company purchases.

(Correction - Error of principle)


	600
	600

	(B)

Year 18/12/31


	Other payables - OK Furniture Co Ltd ($200 x 2)

     Cash at bank
Being cheque payment to OK Furniture Co Ltd recorded in the wrong side of accounts.

(Correction - Error of complete reversal of entries)


	400
	400

	(C)

Year 18/12/31


	Trade receivables - Blueberry Co Ltd

     Trade receivables - Plum Co Ltd

Being cash receipt from Plum Co Ltd wrongly credited to Blueberry Co Ltd.

(Correction – Errors of commission)


	500
	500

	(D)

Year 18/12/31


	Trade receivables - Cherry Co ($30,000 - $12,000)

      Sales

Being sales to Cherry Co recorded in incorrect amount.

(Correction – Error of original entry)


	18,000
	18,000

	(E)

Year 18/12/31


	Rent

     Other payables – Property Co Ltd
Being rent due but not recorded in the books.

(Correction – Error of omission)


	15,000
	15,000

	(F)

Year 18/12/31


	Sales

     Purchases

Being sales and purchases journals both overstated.

(Correction – Compensating error)

	300
	300


Activity 5: Profit Bingo

Workings:-
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 Errors
	Net Profit
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Amount

	Date
	Fill in the accounts affected and circle if they affect the income statement (I/S) or statement of financial position (SFP).
	Circle:
Affected (()

Not Affected (X)
	+ $ /  -  $ /

~

	(A)

Year 18/12/31


	Dr. Drawings                                    I/S ; SFP
Cr. Purchases                                   I/S ; SFP
	(/ X
	+$600

	(B)

Year 18/12/31


	Dr. Other payables - OK Furniture Co 

I/S ; SFP
Cr. Cash at bank                                           I/S ; SFP
	(/ X
	~

	(C)

Year 18/12/31


	Dr. Trade receivables - Blueberry Ltd             I/S ; SFP
Cr. Trade receivables - Plum Ltd                    I/S ; SFP
	(/ X
	~

	(D)

Year 18/12/31


	Dr. Trade receivables - Cherry Co 

I/S ; SFP
Cr. Sales                                          I/S ; SFP
	(/ X
	+ $18,000

	(E)

Year 18/12/31


	Dr. Rent                                           I/S ; SFP
Cr.   Other payables – Property Co Ltd                       I/S ; SFP
	(/ X
	- $15,000

	(F)

Year 18/12/31


	Dr. Sales                                          I/S ; SFP
Cr. Purchases                                   I/S ; SFP
	(/ X
	- $300
+ $300


Total effect on income statement:  $3,600 ( Increase / Decrease in Net Profit)
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Activity 6: Problem Solving

Step 1:

Compare the items on the bank statement and in the cash at bank account.  

Identify the items shown on the bank statement only.
	
	Item
	Amount

	(1)
	Credit transfer
	$10,000

	(2)
	Autopay – IVE Club Subscription
	$250

	(3)
	Deposit
	$14,696

	(4)
	OD interest
	$211

	(5)
	Cheque #302293
	$678


Note: Sequence of answers may vary for each student.
      $6,000 on January 3 is deposit in transit in the previous month.
Step 2:
Update the cash at bank account and complete the corresponding double entries as follows:
Journal

	
	
	Dr
	Cr

	
	
	$
	$

	(1)
	Cash at bank
	10,000
	

	
	
Trade receivables – P
	
	10,000

	
	
	
	

	(2)
	Subscription
	250
	

	
	
Cash at bank
	
	250

	
	
	
	

	(3)
	Trade receivables – O
	14,696
	

	
	
Cash at bank
	
	14,696

	
	
	
	

	(4)
	Interest expense
	211
	

	
	
Cash at bank
	
	211

	
	
	
	

	(5)
	Printing expenses
	678
	

	
	
Cash at bank
	
	678


Step 3:
You have found/are assured the following:

· Records up to 31 December Year 18 are correct;

· Entries in Cash at Bank account reflect the information in pay-in-slips and cheques issued;

· Sales/Purchases/Returns are correctly itemised in the Sales Journal, Purchases Journal, Returns Inwards Journal and Returns Outwards Journal.
By reviewing source documents as well as the Sales Journal, Purchases Journal, Returns Inwards Journal, Returns Outwards Journal and the General Ledger, Sales Ledger and Purchases Ledger, the following errors are identified.

The following errors are found for the month of January Year 19:

1. Total of Sales account was understated by $1,000.

2. Opening balance of Machinery account on 1 January Year 19 was $254,000 instead of $245,000.

3. Opening balance of Accrued Telephone $138 at 1 January Year 19 was omitted.

4. The closing balance of Cash at Bank account should be $31,873 instead of $31,783.
5. Payments by cheque $1,500 for Machinery repairs was entered in the Cash Book correctly but was debited to Machinery account.

6. Credit purchases of $2,800 from creditor B was mistakenly entered in creditor C’s account.
7. Returned goods of $300 to creditor C was completely reversed in the ledger entries.

 (I) Errors affecting trial balance agreement
	No.
	Amount

	(1)
	$1,000

	(2)
	$9,000

	(3)
	$138

	(4)
	$90


Complete the journal entries to correct the errors.
Journal

	
	
	Dr
	Cr

	
	
	$
	$

	(1)
	Suspense
	1,000
	

	
	
Sales
	
	1,000

	
	
	
	

	(2)
	Machinery ($254,000 - $245,000)
	9,000
	

	
	
Suspense
	
	9,000

	
	
	
	

	(3)
	Suspense
	138
	

	
	
Accrued telephone
	
	138

	
	
	
	

	(4)
	Cash at bank ($31,873-$31,783)
	90
	

	
	
Suspense
	
	90


 (II) Errors not affecting trial balance agreement.

	No.
	Amount
	Type of the Error

	(5)
	$1,500
	Error of Principle

	(6)
	$2,800
	Error of Commission

	(7)
	$300
	Error of Complete reversal of entries


Journal

	
	
	Dr
	Cr

	
	
	$
	$

	(5)
	Machinery repairs
	1,500
	

	
	
Machinery
	
	1,500

	
	
	
	

	(6)
	Trade payables – C
	2,800
	

	
	
Trade payables – B
	
	2,800

	
	
	
	

	(7)
	Trade payables – C
	600
	

	
	
Returns outwards
	
	600

	
	
	
	


	(a)                          Dragon Company

Corrected Trial Balance as at 31 January Year 19

	
	Dr

$
	
	Cr
$

	Machinery (246,500+9,000-1,500)
	254,000 
	
	

	Furniture
	150,000 
	
	

	Inventory at 1 January Year 19
	15,800 
	
	

	Trade receivables – M
	20,300 
	
	

	Trade receivables – N
	3,000 
	
	

	Trade receivables – O (25,800+14,696)
	40,496 
	
	

	Cash at bank (31,783+10,000-250-14,696-211-678+90)
	26,038 
	
	

	Loan
	
	
	200,000 

	Trade payables – A 
	
	
	22,000 

	Trade payables – B
	
	
	2,800 

	Trade payables – C (6,400-2,800-600)
	
	
	3,000 

	Capital
	
	
	311,235 

	Purchases
	44,000 
	
	

	Sales (65,100+1,000)
	
	
	66,100 

	Electricity
	1,300 
	
	

	Rent
	15,000 
	
	

	Salaries
	33,000 
	
	

	Accrued telephone
	
	
	138 

	Machinery repairs
	1,500 
	
	

	Returns outwards
	
	
	300 

	Subscription
	250 
	
	

	Interest expense
	211 
	
	

	Printing expenses
	678 
	
	

	
	605,573 
	
	605,573 

	(b)
	
	
	

	Dragon Company

Bank Reconciliation Statement as at 31 January Year 19

	
	$
	$

	Balance as per adjusted cash at bank account
	
	26,038 

	Add: Unpresented cheques
	
	

	
#302287

	2,000
	

	
#302297
	18,000
	

	 
#302298
	15,000
	35,000 

	Balance as per Bank Statement 
	
	61,038 


Note: Unpresented cheque #302287 in the previous month remains unpresented.[image: image7.png]
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E&OE  
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After adjustment, the Income Statement would be:








Dragon Company�
�
Income statement for the year ended 31 December Year 18�
�
�
$�
$�
�



Sales (1,109,850 + 18,000 – 300)�
�
1,127,550�
�
Less: Returns inwards�
�
3,600�
�
�
�
1,123,950�
�
Cost of goods sold:�
�
�
�
Opening inventory�
23,650�
�
�
Add: Purchases (540,730 – 600 - 300)�
539,830�
�
�
�
563,480�
�
�
Less: Closing inventory�
15,800�
547,680�
�
Gross profit�
�
576,270�
�
�
�
�
�
Less: Expenses�
�
�
�
Electricity�
18,750�
�
�
Rent (165,000 + 15,000)�
180,000�
�
�
Salaries�
411,500�
�
�
Other operating expenses�
200�
610,450�
�
Net loss�
�
(34,180)�
�
�
�
�
�
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